=
<

o(0 @) (rad)

1072

Ratio

1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

10

Ratl

5
o

.9
107

1

plf

2 3
 (PcA Bbeamiindf

—s=— ../.JCMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjusted
—e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND
—— DQM_V0001_R000000001__Global__mkFit_CAND-AFTERCONFLICT3

SICEWATL

1072

0.95

=

1

o p/p.)

107}

1

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

L] 111110 T S
.910\-1%_ PRRPRPIRRE 10 1 X A L
IS r :

o L T :
0.95'_1“ + :2 ,
10 ! TPlp?T (PCA tjbobeamliné'f)




	Contents
	Page 1


